STUDIO*M

SM26699

Please consult your electrician for hanging fixture and wiring.

1.Spread the arm evenly,meke sure arm is aligned with
center rod.

2.Screw the nipple | into the coupler 1.

3.Screw the nipple 2 into the coupler 2 then secure by hex
nut. |

4.Attached the cap on the nipple 2 then secure by finial.
5.Attached the glass on the socket then secure by socket

ring.
©.—_mp
H—/ NIPPLE 1

COUPLER 1

JITTL SOCKET RING

SOCKET COUPLER 2

HEX NUT
NIPPLE 2

CAP

FINIAL

T




STUDIO*M

SM26699

Please consult your electrician for hanging fixture and wiring.

Ceiling outlet box

White supply wire Black supply wire

Ribbod wire f: Smooth side of wire
(w/o marking) (w marking)
W/ (——/ MANNNN

Sorew e
Crossbar r—é —

L

Washer
Nut @ ———— a3
Canopy ———— t . 7
Bracket threadcd screw M E _/

Top finial nut

Top finialloop

Chain

Fixture Finial (supportloop)




STUDIO*M

SM26699

Please consult your electrician for hanging fixture and wiring.

INSTALLATION INSTRUCTIONS ? MOUNTING 3
2 MOUNTING BRACKET Fig.4
s 3.#6-32 HEANUT 1 ig.
4.FIXTURE MOUNTING SCREW
PLEASE READ CAREFULLY AND SAVE THESE b e R
INSTRUCTIONS, AS YOU MAY NEED THEM AT A LATER 7.FPOWER SUPPLY GROUND WiRE
DATE 8 FIXTURE ZROUND WIRE
& 9. GROUND SCREW
10. MOUNTING SCREW
11.CANOPY
12.DECORATIVE NUT
: ; ; 6.
CAUTION - Turn off the main power at the circuit breaker before Pa
instalting the fixture, in order to prevent possible shock. &
Remove the fixture and the mounting package from the box and make
sure that no parts are missing by referencing the lllustrations on the
instailation instructions. N
FOR CEILING MOUNT (Fig.4 &5)
1 A)Place the #8-32 HEX NUTS (3.} onto the #8-32 FIXTURE MOUNTING SCREWS (4.), And
attach the FIXTURE MOUNTING SCREWS to the MOUNTING BRACKET (2.}, or universal
mounting piate(whichever is provided}.Do nottighten the HEX NUTS at this time. (Fig.4)
B) If the fixture uses a single 1/8" IPS NIPPLE (4.) for mounting, thread the 1/8” IPS HEX NUT 12.
(3) onto the NIPPLE. and screw the NIPPLE intc the MOUNTING BRACKET (2.), Without tightening
the HEX NUT (Fig 5)
2 Pulithe power supply wires gut from the QUTLET BOX (1.). and mount the MOUNTING BRACKET
(2) or the universai mounting plate to the OUTLET BOX. using MOUNTING SCREWS (10.}.
3 Attach the power supply wwre.s tothe fixture lead wires by connecting BLACK to BLACK (6.}, And ——
WHITE to WHITE (5.) Attach the POWER SUPPLY GROUND WIRE (7.) fromthe OUTLET BOX i sg‘b!-;glﬁé’gm““ :
(1).And the FIXTURE GROUND WIRE (8,) from the fixture to the green GROUND SCREW (9.} On £ SUNTING BRAX Fig.5
the MOUNTING BRACKET (2.).er, connect both wires together using the correct size ofwire 4 NIPPLE il
connectors. 5. WHITE TO WHITE WIRE CONNECTION
6.BLACK TO BLACK WIRE CONNECTION =
4 Place the CANOPY (11.) on the fixture overthe DUTLET BOX (1.) and cnta the fixture mounting GFOWER BUFELY GHOUHCWIRE T.
screws for NIPPLE(4.)).and adjust the #8-32 fixture mounting screws (ar NIPPLE ) until they protrude e gzgg&“ WIRE :
out from the CANOPY 1/4", Remove the CANOPY and secure the position of the fixture mounting 10 MOUNTING SCREW —
screws (or NIPPLE) by tightaning the HEX NUT {S) (3.) against the MOUNTING BRACKET (2.). Rl = 2.
Placethe CANOPY back onto the fixture mounting serews, (or NIPPLE). and secure into place using 12.DECORATIVE NUT ¢
the DECORATIVE NUTS (12.) Provided ) H =) A
5 Screw inlightbulbs that do not exceed the maximum wattage specified on the 5. 3.
rating iabel into the sockel(s) on the fixlure v
y |
s [
INSTALLATION COMPLETED T - g \ 6.
8. vl 1A
FOR CHAIN - SUSPENDED CEILING MOUNT (Fig. 6) i 10.
t Screwthe 1/8"IPS HEXNUTS (5.) onto the 1/8" IPS NIPPLE (4.}, and then attach the end of the 11
NIPPLE thathasthe HEX NUT tothe MOUNTING BRACKET (2), Do nottightenthe HEX NUT ’
Pultthe SUPPLY GROUND WIRES (8.jout fromthe OUTLET BOX{1.), and attach the MOUNTING <
BRACKET (2.} assemblyto the OUTLET BOX, by using the slotted holes on the MOUNTING
BRACKET and the MCUNTING SCREWS (3.) Provided.
2 Thread # 1/8"IPS HEX NUT (5.), and the SCREW COLLAR LOOP (6.) onto the NIPPLE (4.) End
thatis facing down, but do not tighten the HEX NUT. Place the CANOPY (15.) overthe OUTLET 12,
BOX (1.) and adjustthe SCREW COLLAR LOOP and NIPPLE until the outside threads on the
SCREWCOLLAR LOOP is centered with the center hole opening orthe CANOPY. Take away the
CANQPY and tighten the HEX NUTS downon the MOUNTING BRACKET (2.}, and the SCREW
COLLARLOOP.
3 Open upthe endlinks ofthe CHAIN (17.) and attach ore end ofthe CHAIN onto the FIXTURE Fig.6
LOOP (18), Slide the THREADED RING (16.) from the SCREW COLLAR LOOP (6.), and the 1.
CANOPY (15.)onto the CHAIN in that order. and attach the other end ofthe CHAIN onto the SCREW ] !
COLLAR LOOP. Close the ends of the chain tinks. : ' Emm
] i
4 Unravel thefixture's lead and ground wires and thread the lead and ground wires through every . 8 i \_2' = Y _:_,r 3 \QE“ ING
other link of the CHAIN (17 ), and outthrough the SCREW COLLAR LOQP (6.)and NIPPLE (4.) ' T ~ =
assembly. Starting with the chain link attached to the FIXTURE'S LOOP (18.). 9 3. _i l 11.
' M §. =
5 Attach the power supply wires to the fixture lead wires by connecting the BLACK POWER SUPPLY 13. { - 13
WIRE (11 )tothe SMOOTH FIXTURE LEAD WIRE (12.), and the WHITE POWER SUPPLY WIRE / 14 \ 12
(8 )tothe RIBBED FIXTURE LEAD WIRE {10.), Attach the SUPPLY GROUND WIRE (8.) from the 10 5 4. 5
OUTLETBOX (1.}, and the FIXTURE GROUND WIRE (7.} from the fixture onto the green GROUND
SCREW (14 )on the MOUNTING BRACKET (2.), Or, connect both wires together using the correct —0
size of WIRE CONNECTORS (13.), Place connected wires inside of the OUTLET BOX. gl il
3.MOUNTING SCREW i) U
6 Slide the CANOPY (15.) and the THREADED RING (16.) of the SCREW COLLAR LOOP (8.)up 4.NIPPLE o i g e o
the CHAIN (17.), Placs the CANOPY over the OUTLET BOX (1.). and secure in place by screwing 5. 1/871PS HEX NUT t hid J
the THREADED RING onto the SCREW COLLAR LOOP. 6.SCREW COLLAR LOOP
7 FIXTURE GROUND WIRE
7. Screw in light bulbs that do not exceed the maximum waltage specified on the fixture's wattage ga{‘;‘:?;gggs&”\zl‘géﬂ
ratinglabel. Ibto the socket(s) on the fixture 10 RIBBED FIXTURE LEAD WIRE 15.
11.BLACK SUPPLY WIRE \\
NOTE:|f the bottom opening of the lamp compariment to the fixture is too narrow to altow access 12.8MOOTH FIXTURE LEAD WIRE 16
tothe light buld{s}. unscres the two decorative screws at the top of the lamp compartment to alicw 13.WIRE CONNECTOR :
rtto drop down for lamp replacement 14 GROUND SCREW
15.CANOPY
168. THREACED RING
INSTALLATION COMPLETED 17.CHAIN . 18.
18.FIXTURE LOOP




STUDIO*M

SM26699

Please consult your electrician for hanging fixture and wiring.

Ceiling outlet box

White supply wire Black supply wire

Ribbod wire Smooth side of wire

(w/o marking) (w marking)
- W7777 f/g——/ AANIIN

L

J

Serew e E
Crossbar L

Washer

Nut

—J
_J

COBEI  —nemensminse t

Bracket threaded screw e E

i
Top finial nut
Top finialloop
Chain
Fixture Finial (support loop) ——




STUDIO*M

SM26699

Please consult your electrician for hanging fixture and wiring.

INSTALLATION INSTRUCTIONS

PLEASE READ CAREFULLY AND SAVE THESE
INSTRUCTIONS, AS YOU MAY NEED THEM AT A LATER
DATE.

CAUTION - Turn off the main power at the circuit breaker befcre
installing the fixture, in order to prevent possible shock.

Remove the fixture and the mounting package from the box and make
sure that no parts are missing by referencing the lllustrations on the

instailation instructions.

FOR CEILING MOUNT (Fig.4&5)

1 A)Place the #8-32 HEX NUTS (3.} onto the #8-32 FIXTURE MOUNTING SCREWS (4.), And
attach the FIXTURE MOUNTING SCREWS to the MOUNTING BRACKET (2.}, oruniversal
mounting plate{whicheveris provided).Do nottighten the HEX NUTS at this time. (Fig.4)

B) If the fixture uses a single 1/8" IPS NIPPLE (4.) for mounting, thread the 1/8” IPS HEX NUT
(3) onto the NIPPLE. and screw the NIPPLE intc the MOUNTING BRACKET (2.), Without tightening
the HEX NUT (Fig 5)

2 Pulithe power supply wires out from the QUTLET BOX (1.). and mount the MOUNTING BRACKET
(2) or the universai mounting plate to the OUTLET BOX. using MOUNTING SCREWS {(10.).

3 Attach the power supply wires to the fixture lead wires by connecting BLACK to BLACK (6.}, And
WHITE to WHITE (5.) Attach the POWER SUPPLY GROUND WIRE (7.} fromthe QUTLET BOX
(1).And the FIXTURE GROUND WIRE (8.) from the fixture to the green GROUND SCREW (8.} On
the MOUNTING BRACKET (2.).cr, connect both wires together using the correct size of wire
connectors,

4 Place the CANOPY (11.) on the fixture overthe OUTLET BOX (1.) and cnto the fixture mounting
screws jor NIPPLE(4.)].and adjust the #8-32 fixture mounting screws (or NIPPLE ) until they protrude
out from the CANOPY 1/4", Remove the CANOPY and secure the position of the fixture mounting
screws (or NIPPLE) by tightening the HEX NUT {S) (3.) against the MOUNTING BRACKET (2.).
Place the CANOPY back onto the fixture mounting serews, (or NIPPLE). and secure into place using
the DECORATIVE NUTS (12} Provided

5 Screwinlightbulbs that donot exceed the maximum wattage specified on the
rating iabel,into the sockel(s) un the fixture

INSTALLATION COMPLETED

FOR CHAIN - SUSPENDED CEILING MOUNT (Fig. 6)

* Screwthe 1/8"IPS HEXNUTS (5.) onto the 1/8” IPS NIPPLE (4.}, and then attach the end of the
NIPPLE thathasthe HEX NUT tothe MOUNTING BRACKET (2.). Do nottightenthe HEX NUT
Pultthe SUPPLY GROUND WIRES (8 ) out fromthe OUTLET BOX{t ), and attach the MOUNTING
BRACKET (2.) assembiyto the OUTLET BOX, by using the slotted holes on the MOUNTING
BRACKET and the MCUNTING SCREWS (3.} Provided.

2 Thread & 1/87IP$ HEX NUT (5.). and the SCREW COLLAR LOOP (6.) onto the NIPPLE (4.) End
thatis facing down, but do not tighten the HEX NUT. Place the CANOPY (15.) overthe OUTLET
BOX (1.} andadjustthe SCREW COLLAR LOGP and NIPPLE until the outside threads on the
SCREWCOLLAR LOOP is centered with the center hole opening or the CANOPY. Take away the
CANQPY and tighten the HEX NUTS downon the MOUNTING BRACKET (2.}, and the SCREW
COLLARLOOP.

3 Open upthe endlinks ofthe CHAIN (17.) and attach one end ofthe CHAIN onto the FIXTURE
LOOP (18), Slide the THREADED RING (16.) from the SCREW COLLAR LOOP (6.), and the
CANOPY (15.)onto the CHAIN in that order. and attach the other ead of the CHAIN onto the SCREW
COLLAR LOOP. Close the ends of the chain tinks.

4 Unravel the fixture's lead and ground wires and thread the lead and ground wires through every
otherlink of the CHAIN (17.), and outthrough the SCREW COLLAR LOOP (6.)and NIPPLE (4.)
assembly. Starting with the chain link attached to the FIXTURE'S LOOP (18.).

§ Attach the power supply wires to the fixture lead wires by connecting the BLACK POWER SUPPLY
WIRE (11 )tothe SMOOTH FIXTURE LEAD WIRE ( 12.), and the WHITE POWER SUPPLY WIRE
(8 )tothe RIBBED FIXTURE LEAD WIRE {10.), Attach the SUPPLY GROUND WIRE (8.) from the
OUTLETBOX (1.}, and the FIXTURE GROUND WIRE (7.} from the fixture onto the green GROUND
SCREW (14 )on the MOUNTING BRACKET (2.), Or, connect both wires together using the correct
size of WIRE CONNECTORS (13.), Place connected wires inside ofthe OUTLET BOX.

6 Slide the CANOPY (15.} and the THREADED RING (16.)of the SCREW COLLAR LOOP (8.)up
the CHAIN (17.}, Place the CANOPY over the OUTLET BOX (1.). and secure in place by screwing
the THREADED RING onto the SCREW COLLAR LOOP.

7. Screwin light bulbs that do not exceed the maximum wattage specified on the fixture's waltage
ratinglabel. Ibto the socket(s) on the fixture.

NOTE:|f the bottom opening of the lamp compartment to the fixture is too narrow to altow access
tothe light buld{s). unscres the two decorative screws at the top of the lamp compariment to aliow
rtto drop down for lamp replacement

INSTALLATION COMPLETED

1.OUTLET 80X

2 MOUNTING BRACKET
3.#8-32 HEXNUT

4. FIXTURE MOQUNTING SCREW
5. WHITE TO WHITE WIRE CONNECTIGN
B BLACK TO BLACK WIRE CCNNECTICON
7.POWER SUPPLY GROUND WiRE
8 FIXTURE ZRQUND WIRE

9. GROUND SCREW

10. MOUNTING SCREW
11.CANOPY

12.DECORATIVE NUT

12.

Fig.4

1. QUTLETBOX

1. QUTLET BOX

2.MOUNTING BRAGKET
3.MOUNTING SCREW
4.NIPPLE

5. 1/87{PS HEX NUT

B.SCREW COLLAR LOOP

7 FIXTURE GROUND WIRE
B.SUPPLY GROUND WIRE
2.WHITE SUPPLY WIRE
10.RIBBED FIXTURE LEAD WIRE
11.BLACK SUPPLY WIRE
12.SMOOTH FIXTURE LEAD WIRE
13.WIRE CONNECTOR

14. GROUND SCREW
15.CANOPY

18. THREADED RING

17.CHAJN -
18.FIXTURE LOOP

2. MOUNTING BRACKET Fig.§
3.1/87IPS HEXNUT
4 NIPPLE
5. WHITE TO WHITE WIRE CONNECTION
6.BLACK TO BLACK WIRE CONNECTION 3
7.POWER SUPPLY GROUND WIRE 7
8.FIXTURE GROUND WIRE .
9.GROUND SCREW \
10.MOUNTING SCREW =
11.CANOPY , 2.
12.DECORATIVENUT t
ﬁ (g .
2 3.
a. ]
- \ 6
8. 9.
1 10.
-
<@
|
1)
12,
Fig.6
1.
|
n ] Al
2.—. i N
it NN - s »
—— I S
8. 3 3. CEILING
3. ——i s 11
- 5
13. I =) —— 13
1
10/ 4 \4 12




